MATHS

BOOKS - CBSE COMPLEMENTARY
MATERIAL MATHS (HINGLISH)

STATISTICS

Very Short Answer Types | Questions

1. What is the mean of first 12 prime numbers?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MSHl3ulv7UR4

2. The mean of 20 numbers is 18. If 2 is added

to each number, what is the new mean?

o Watch Video Solution

3. The mean of 5 observation 3, 5, 6, x and 11 is

7, find the value of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_MSHl3ulv7UR4
https://dl.doubtnut.com/l/_gWjfzDKvzbYJ
https://dl.doubtnut.com/l/_rNttFYgY6hUl

4., What is the median of first 5 natural

numbers?

o Watch Video Solution

5. What is the value of x, if the median of the
following data is 27.5 ?

24,25 26, x + 2,z + 3, 30, 33, 37

o Watch Video Solution



https://dl.doubtnut.com/l/_GDlxz9GvDpWj
https://dl.doubtnut.com/l/_0BKXNVyynUnS

6. What is the mode of the observation 5, 7, 8,

5,7,6,9,5,10,6

° Watch Video Solution

7. The arithmetic mean and mode of a data are
24 and 12 respectively, then find the medina of

the data.

° Watch Video Solution



https://dl.doubtnut.com/l/_BYKMgm0vHpyL
https://dl.doubtnut.com/l/_3T3blo9Kr7Vg

8. Write the class mark of the class 19.5 — 29.5

o Watch Video Solution

9. If the class intervals of a frequency
distribution are
1-10,11 — 20,21 — 30,....,51 — 60 then

the size of even class is

A9

B.10


https://dl.doubtnut.com/l/_4lAz81RELCJH
https://dl.doubtnut.com/l/_p0FJ4xOyNuuB

C. 1

D.55

Answer: A::B::C::D

O Watch Video Solution

10. If the class intervals of a frequency
distribution are
1-10,11 - 20,21 — 30,....,61 — 70, Then

the upper limit of 21 — 30 is


https://dl.doubtnut.com/l/_p0FJ4xOyNuuB
https://dl.doubtnut.com/l/_bc1VWz5dlYVM

A 21

B.30

C.305

D. 20.5

Answer: C

o Watch Video Solution

11. Consider the frequency distribution.

Class 0-5 ] 6-11 12-17 18—23 | 24-29
Frequencv 13 10 15 8 11

[
0



https://dl.doubtnut.com/l/_bc1VWz5dlYVM
https://dl.doubtnut.com/l/_mP3vNUPsl9lY

The upper limit of median class is

A 17

B.17.5

C.18

D. 18.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mP3vNUPsl9lY

12. Daily wages of a factory workers are

recorded as:

Daily wagesin¥ | 121 — 126 127 — 132 |133- 138|139 — 144|145 - 150

No. of workers 5 27 20 18 12

The lower limit of Modal class is

A.Rs 127
B.Rs 126
C.Rs 126.5

D.Rs 133

Answer: C

I o wAr_ o _L w2 ldl_ _ e~_1_..0°_



https://dl.doubtnut.com/l/_nliGyL5z8x0g

{ ™ Vvvailil vVidcO o01IUutLiornl )

13. For the following distribution.

Class 0-5 | 5-10|10-15 15-20 20-25
Frequency 10 L5 12 20 9

The sum of Lower limits of the median class

and modal class is

A. 15

B. 25

C.30

D. 35


https://dl.doubtnut.com/l/_nliGyL5z8x0g
https://dl.doubtnut.com/l/_8aXccA5AsfvO

Answer: A::B::C::D

o Watch Video Solution

Very Short Answer Types | Questions Fill In The

Blank

1. Mode =3 —2

o Watch Video Solution

2. An ogive is used to determine


https://dl.doubtnut.com/l/_8aXccA5AsfvO
https://dl.doubtnut.com/l/_BomgX8seIcDU
https://dl.doubtnut.com/l/_W0ujULKI3YBK

° Watch Video Solution

3. If the point of intersection of more than and

less than ogiven is (20.5, 30.7) then the median

° Watch Video Solution

4. The mode of a frequency distribution is

obtained graphically from

o Watch Video Solution



https://dl.doubtnut.com/l/_W0ujULKI3YBK
https://dl.doubtnut.com/l/_dKYzaGHBhymB
https://dl.doubtnut.com/l/_cRDaVOl91FFc

5. If the mode is 8 and mean is also 8 then

median will be

° Watch Video Solution

6. Which measure of central tendency can be

determined graphically

o Watch Video Solution



https://dl.doubtnut.com/l/_cRDaVOl91FFc
https://dl.doubtnut.com/l/_KuUBONeNl6eQ
https://dl.doubtnut.com/l/_7U9y6qA2gMD9

7.1f the class marks of a continuous frequency
distribution are 22, 30, 38, 46, 54, 62 then the

class corresponding to class mark 46 is

o Watch Video Solution

8. The cumulative frequency table is useful in

determining the

° Watch Video Solution



https://dl.doubtnut.com/l/_rwtwb6tKBV7n
https://dl.doubtnut.com/l/_JHOk5HIDeDNP

9. The median of first 10 prime numbers is (a)

11(b) 12 (c) 13 (d) 14

o Watch Video Solution

10. The assumed mean method to find mean is

o Watch Video Solution

Short Answer Type Question |


https://dl.doubtnut.com/l/_YGzRq80npXnD
https://dl.doubtnut.com/l/_arCrpDzheLfh
https://dl.doubtnut.com/l/_iH4dnwJ8gH6b

1. The mean of 11 obervation is 50. If the mean
of first Six observation is 49 and that of last six

observation is 52, then find sixth observation.

° Watch Video Solution

2. Find the mean of following distribution

X 12 16 20 24 28 32
I 5 7 8 5 3 2

° Watch Video Solution



https://dl.doubtnut.com/l/_iH4dnwJ8gH6b
https://dl.doubtnut.com/l/_lPLlTa7sdX1X

3. Find the median of the following

distribution

x |10 [ 12 ] 14 [16 18] 20
f 3 5 6 4 4

I

o Watch Video Solution

4. Find the mode of the following frequency

distribution
Class 0-515-10 1015 | 15-20 | 20-25| 25-30
Frequency 2 7 18 10 8 5

o Watch Video Solution



https://dl.doubtnut.com/l/_GVR3FNHKXuyl
https://dl.doubtnut.com/l/_dTchGY8P1Aef

5. Draw a 'less than' ogive of the following data

Marks No. of students

Less than 20 0

Less than 30 4

Less than 40 16
Less than 50 30
Less than 60 46
Less than 70 66
Less than 80 82
Less than 90 92
Less than 100 100

o Watch Video Solution

6. Write the following data into less than

cummulative frequency distribution table.

Marks 0—-10 | 1020 | 20-30| 30-40  40-50
No. of students 7 9 6 8 10



https://dl.doubtnut.com/l/_8R5LQBYvLtIi
https://dl.doubtnut.com/l/_aHI7gxDehEME

\ ° Watch Video Solution

7. Find mode of the following frequency

distribution.

Class Interval 25-30] 30-33 35-40[ 40—-4p 45-50| 50-55
Frequency 25 34 50 42 38 14

° Watch Video Solution

8. What is the median of the following data?

v 10 20 30 40 | 50
! 2 3 2 3 1

° Watch Video Solution



https://dl.doubtnut.com/l/_aHI7gxDehEME
https://dl.doubtnut.com/l/_YlwJVCGSTmIy
https://dl.doubtnut.com/l/_uG5GzfFlJFrT

9. Mean of a frequency distribution (Z) is 45

o Watch Video Solution

Short Answer Type Question li

1. If the mean of the following distribution is

54, find the value of P.

Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Frequency 7 P 10 9 13



https://dl.doubtnut.com/l/_uG5GzfFlJFrT
https://dl.doubtnut.com/l/_JNlXjI2zzX2E
https://dl.doubtnut.com/l/_4qJoYjjQRhBP

° Watch Video Solution

2. Find the median of the following

distribution

CL 0-10 10-20 20-30 30-40 | 40-50 | 50-60
f 5 3 10 6 4 2

o Watch Video Solution

3. The median of following frequency

distribution is 24 years. Find the missing


https://dl.doubtnut.com/l/_4qJoYjjQRhBP
https://dl.doubtnut.com/l/_lxij4mf6u1LO
https://dl.doubtnut.com/l/_fd4mZet4ZdN8

frequency x.

Age (Inyears) | 0-10 | 10-20 20-30 | 3040 |40-50
No. of persons 5 25 X 18 7

o Watch Video Solution

4. Find the median of the following data

Marks Below 10 Below 20 | Below 30 | Below 40 |below 50 Below 60
No. of student 0 12 20 28 33 40

o Watch Video Solution

5. Find the mode of the following data.

Height (Incm) | Above 30 | Above 40 |Above 50 |Above 60 |Above 70 |Above 80
No. of plants 34 30 27 19 8 2



https://dl.doubtnut.com/l/_fd4mZet4ZdN8
https://dl.doubtnut.com/l/_rY34su3C0Ugk
https://dl.doubtnut.com/l/_8xcFnEFmEjfD

° Watch Video Solution

6. The following table represent marks

obtained by 100 students in a test.

Marks obtained 30 — 35/ 35-40| 40-45| 45-50| 50 - 55 55-60] 60 — 65

No. of students 14 16 28 23 18 8

Find mean marks of the students.

° Watch Video Solution

7. The following table represent pocket

allowance of children of a colony. The mean


https://dl.doubtnut.com/l/_8xcFnEFmEjfD
https://dl.doubtnut.com/l/_8MpUNtKDIi65
https://dl.doubtnut.com/l/_Kbw7LO1hJEUF

pocket allowance is Rs

frequency.

18. Find missing

Daily pocket
allowance

I1-13/13-15 15-17

17-19

19-2121-2323-25

No. of children

6 9

o Watch Video Solution

8. Find mode of the following frequency

distribution.
Class Interval 0-20 | 2040 40-60 60—80 [80-100
No. of Students 15 18 21 29 17

The mean of above distribution is 53. Empirical

formula to find approximate value of median.

|



https://dl.doubtnut.com/l/_Kbw7LO1hJEUF
https://dl.doubtnut.com/l/_Mwv0rkcd134I

Long Answer Type Questions

1. The mean of the following data is 53, Find

the value of f; and f5

CI | 020 [2040 | 4060 | 60-80 | 80-100 | Total
! 15 f 21 I 17 100

o Watch Video Solution

2. If the median of the distribution given

below is 28.5, find the value of xand y


https://dl.doubtnut.com/l/_Mwv0rkcd134I
https://dl.doubtnut.com/l/_opoSUs1O1Q4y
https://dl.doubtnut.com/l/_lWfkr2tpA60s

CI | 0-10 | 1020 | 20-30 | 3040 | 40-50 |350-60 | Total
! 5 8 x 15 ¥ 5 60

o Watch Video Solution

3. The median of the following distribution is

35, find the value of a and b.

CI | 0-10| 10-20 | 20-30 | 30-40 | 40-50 | 50-60| 60-70 | Total
Va 10 20 a 40 b 25 15 170

o Watch Video Solution

4. Find the mean, median and mode of the

following data.


https://dl.doubtnut.com/l/_lWfkr2tpA60s
https://dl.doubtnut.com/l/_42okx9mQ486v
https://dl.doubtnut.com/l/_apFlZKpaFOc8

ClI 11-15| 16-20 | 21-25 | 26-30 | 31-35 | 36-40| 41-45 | 46-50

o View Text Solution

5. The rainfall recorded in a city for 60 days is

given in the following table

Raifall Incm) | 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of Days 16 10 8 15 5 6

Calulate the median rainfall using a more than

type ogive.

o View Text Solution



https://dl.doubtnut.com/l/_apFlZKpaFOc8
https://dl.doubtnut.com/l/_J4Ls6XyUrrJm

6. Find the mean of the following distribution

by step-deviation method.

Daily Expenditure | 100150 | 150-200 | 200-250| 250-300 | 300-350
(in%)
No. of Households 4 5 12 2 2

o Watch Video Solution

7. The distribution given below show the

marks of 100 students of a class.


https://dl.doubtnut.com/l/_ewFXnLOGmVZ0
https://dl.doubtnut.com/l/_VLJZxeTkuj4j

Marks No. of students
0-5 4
5-10 6
10—-15 10
15-20 10
20-25 25
25-30 22
30-35 18
35-40 5

Draw a less than type and a more than type
ogive from the given data. Hence obtain the

median marks from the graph.

° View Text Solution



https://dl.doubtnut.com/l/_VLJZxeTkuj4j

8. The annual profit earned by 30 factories in
an industrial area is given below
Draw both ogives for the data and hence find

the median.

Profit (% in lakh) No. of Factories
More than or equal to 5 30

More than or equal to 10 28

More than or equal to 15 16

More than or equal to 20 14

More than or equal to 25 10

More than or equal to 30 7

More than or equal to 35

More than or equal to 40 0

o View Text Solution



https://dl.doubtnut.com/l/_ZcnWZWSFZ6b1

9.If mean of the given distribution is 65.6 find

the missing frequency.

Class Interval | 10—30 | 30-50 50-70| 70-90 | 90-110|110-130| Total

Frequency 5 8 f) 20 f, 2 50

o Watch Video Solution

Practice Test

1. An ogive is used to determine

A. Range


https://dl.doubtnut.com/l/_JepjyEBwASao
https://dl.doubtnut.com/l/_rxBCr9BQyjwH

B. Mean

C. Mode

D. Median

Answer:

o Watch Video Solution

2. Write the modal class for the following

frequency distribution.

Classes 1-4 5-8 [9-12 13-16 17-20 |21 -24

frequency 8 9 1 12 8 9

l ° Watch Video Solution


https://dl.doubtnut.com/l/_rxBCr9BQyjwH
https://dl.doubtnut.com/l/_na7EGBPz06e0

3. Find the mean

Marks less than 20 |less than 40| less than 60 |less than 80| less than 100,
No. of Students 4 10 28 36 50

o Watch Video Solution

4. Find the value of x if the mode is given to be

58 years

Age (invears) | 20-30 | 30-40 | 40-50| 50-60 | 60-70| 70-80
No. of patients| 3 13 x 20 18 19

° Watch Video Solution



https://dl.doubtnut.com/l/_na7EGBPz06e0
https://dl.doubtnut.com/l/_oasNaoxTwKEL
https://dl.doubtnut.com/l/_12arGV1Hjp9S

5. The mean of the following frequency
distribution is 576 and the number of

observation is 50. Find the missing frequency

f1&fo
Class Interval| 0-20 | 20—40 40-60 | 60-80 | 80—100 | 100-120
frequency 7 A 12 7 8 5

o Watch Video Solution



https://dl.doubtnut.com/l/_Fs9g5Py9z1FJ

